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ANTOLOGI PUISI 

Jalan-Jalan Sore Hari 

 

3HQXOLV � 6XWULPDK 

 

(GLWRU � 5DKD\X�3XMLXWDPL� 

   

'HVDLQ�6DPSXO � 'XO�.RPHG 

 

)RWR�&RYHU � 5DQXUWH�XQVSODVK�FRP 

 

7DWD�/HWDN � 5\DQ�5DFKPDQ 

 

,6%1 � ����������������� 

 

'LWHUELWNDQ�ROHK � (85(.$�0(',$�$.6$5$��-81,����� 

  $1**27$�,.$3,�-$:$�7(1*$+ 

  12������-7(����� 

 

5HGDNVL� 

-DODQ�%DQMDUDQ��'HVD�%DQMDUDQ�57����5:����.HFDPDWDQ�%RMRQJVDUL�

.DEXSDWHQ�3XUEDOLQJJD�7HOS���������������� 

6XUHO���HXUHNDPHGLDDNVDUD#JPDLO�FRP� 

&HWDNDQ�3HUWDPD������� 

 

 

 

$OO�ULJKW�UHVHUYHG 

 

 

 

+DN�&LSWD�GLOLQGXQJL�XQGDQJ�XQGDQJ 

'LODUDQJ�PHPSHUEDQ\DN�DWDX�PHPLQGDKNDQ�VHEDJLDQ�DWDX�VHOXUXK�

LVL� EXNX� LQL� GDODP� EHQWXN� DSDSXQ� GDQ� GHQJDQ� FDUD� DSDSXQ��

WHUPDVXN�PHPIRWRNRSL��PHUHNDP��DWDX�GHQJDQ�WHNQLN�SHUHNDPDQ�

ODLQQ\D�WDQSD�VHL]LQ�WHUWXOLV�GDUL�SHQHUELW� 
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$OKDPGXOLOODKKLUDEELO·DODPLQ� 

6HJDOD�SXML�EDJL�$OODK�6:7�\DQJ�WHODK�PHOLPSDKNDQ�UDKPDW�

1\D��VHKLQJJD�ELVD�WHUFLSWD�EXNX�SXLVL�LQL��6D\D�VDQJDW�VHQDQJ�GDQ�

EDQJJD�GDSDW�PHPSHUVHPEDKNDQ�EXNX�LQL�NHSDGD�$QGD��.DU\D�LQL�

PHUXSDNDQ�KDVLO�GDUL�SHUMDODQDQ�SDQMDQJ��GHGLNDVL��VHUWD�LQVSLUDVL�

GDUL�EHUEDJDL�RUDQJ�\DQJ�WHODK�PHPEHULNDQ�NRQWULEXVL�EHVDU�GDODP�

SURVHV�SHQ\XVXQDQQ\D� 

'DODP� ULXKQ\D� NDWD�NDWD� \DQJ�PHQMDODU� VHSHUWL� VXQJDL� WDN�

WHUEDWDV��VD\D�PHQDZDUNDQ�VHEXDK�SHUMDODQDQ��6HEXDK�SHUMDODQDQ�GL�

DQWDUD� EDULV�EDULV� SXLVL� \DQJ� PHQJDOLU� VHSHUWL� DOLUDQ� NHKLGXSDQ��

PHQJKLGXSNDQ�ZDUQD�ZDUQL�\DQJ�WHUVHPEXQ\L�GL�GDODP�KDWL��%XNX�

LQL� EXNDQODK� VHNDGDU� NXPSXODQ� NDWD�NDWD�� PHODLQNDQ� VHUSLKDQ�

VHUSLKDQ� MLZD� \DQJ� WHUFXUDK� GDODP� EDLW�EDLW� VDMDN�� 'L� GDODPQ\D�

WHUGDSDW� LUDPD� NHVXQ\LDQ�� KHQWDNDQ� KDWL� \DQJ� EHUJHPXUXK�� GDQ�

Q\DQ\LDQ�FLQWD�\DQJ�WDN�WHUXFDS� 

3XLVL�SXLVL�\DQJ� WHUKDPSDU�GL�KDODPDQ�KDODPDQ� LQL� DGDODK�

SHUMDODQDQ� VD\D�� VHEXDK� UHIOHNVL� GDUL� SHQJDODPDQ� KLGXS�� PLPSL�

PLPSL�\DQJ�WHUOXSDNDQ��GDQ�SHUMXDQJDQ�GDODP�PHUDQJNDL�PDNQD��

6D\D� EHUKDUDS� EDKZD� VHWLDS� NDWD� \DQJ� WHUSDKDW� GL� VLQL� GDSDW�

PHQ\HQWXK�QXUDQL�GDQ�PHUDQJNXO�NHLQGDKDQ�\DQJ�DEDGL� 

0DUL� EHUVDPD�VDPD� PHUHQXQJ�� PHUDVDNDQ�� GDQ�

PHQJKLGXSNDQ� VHWLDS� NDWD�� VHDNDQ�DNDQ� PHUHND� DGDODK� SLQWX�

PHQXMX� GXQLD� \DQJ� OHELK� GDODP�� 6D\D� PHQJDMDN� $QGD� XQWXN�

PHQDSDNL� MDODQ� LQL� EHUVDPD�� PHQMHODMDKL� ORURQJ�ORURQJ� KDWL� \DQJ�

WHUVHPEXQ\L��GDQ�PHQHPXNDQ�NHEHQDUDQ�\DQJ�PHQJJHWDUNDQ�MLZD� 

7HULPD�NDVLK�DWDV�NHEHUDQLDQ�$QGD�XQWXN�PHPDVXNL�GXQLD�

SXLVL� LQL�� 6HPRJD� NDWD�NDWD� \DQJ� WHUSDKDW� GL� VLQL� GDSDW� PHQMDGL�

WHPDQ�VHWLD�GL�VHWLDS�ODQJNDK�SHUMDODQDQ�$QGD� 

 

     3XUEDOLQJJD��0HL����� 

      

  3HQXOLV 
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7LDGD�\DQJ�VHPSXUQD��NDWD�PHUHND 

1DPXQ�GDODP�NHWLGDNVHPSXUQDDQ�LWX�NLWD�WHPXNDQ�NHLQGDKDQ 

6HSHUWL�ELQWDQJ�\DQJ�PHQJKLDVL�ODQJLW�PDODP 

$WDX�GDXQ�\DQJ�PHQDUL�GLKHPSDV�DQJLQ 

 

3XLVL�DGDODK�FHUPLQ�MLZD�\DQJ�WHUEXND 

0HQJJDPEDUNDQ�FLQWD��NHKLODQJDQ��GDQ�LPSLDQ 

'DODP�VHWLDS�JRUHVDQ�SHQD�\DQJ�WHUSDKDW 

7HUXNLU�FHULWD�\DQJ�WDN�SHUQDK�PDWL 

 

7LDGD�\DQJ�VHPSXUQD��QDPXQ�NLWD 

0HQ\DWX�GDODP�NHEHUDJDPDQ�GDQ�NHLQGDKDQ 

0HQJDOLU�GDODP�LUDPD�SXLVL�\DQJ�DEDGL 

6HEDJDL�SHQJLQJDW�DNDQ�NHKLGXSDQ�\DQJ�VHODOX�EHUXEDK 
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/DQJNDK�GHPL�ODQJNDK�GL�MDOXU�\DQJ�WHUEHQWDQJ 

0HQGDNL�JXQXQJ��PHQ\HEHUDQJL�ODXWDQ�OXDV 

7DN�JHQWDU�ROHK�WDQWDQJDQ�\DQJ�PHQJKDGDQJ 

.LWD�WHUXV�PDMX��PHQJJDSDL�PLPSL�\DQJ�WHUDVD�VHPDNLQ�Q\DWD 

 

'L�WHQJDK�EDGDL�GDQ�KXMDQ�\DQJ�PHQJJX\XU 

.LWD�WHWDS�EHUGLUL��SHQXK�NHEHUDQLDQ�GDQ�NHNXDWDQ 

7DN�DNDQ�JR\DK�ROHK�DQJLQ�\DQJ�EHUSXWDU 

.LWD�WHUXV�PHODQJNDK��PHQXMX�WHPSDW�\DQJ�WHODK�NLWD�WXMX 

 

0LPSL�DGDODK�ELQWDQJ�\DQJ�VHODOX�EHUVLQDU 

0HQXQWXQ�ODQJNDK�NLWD�GL�PDODP�\DQJ�JHODS 

-DQJDQ�SHUQDK�OHODK��MDQJDQ�SHUQDK�EHUKHQWL�EHUKDUDS 

.DUHQD� GL� XMXQJ� SHUMDODQDQ�� LPSLDQ� NLWD� DNDQ� WHUZXMXG� GDODP�

NHLQGDKDQ�\DQJ�DEDGL 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  



3 

 

3(/,7$�+,'83.8 

 

 

(QJNDX��SHOLWD�KLGXSNX��FDKD\D�\DQJ�PHQ\LQDUL 

0HQ\XOXK�MDODQ�GL�PDODP�\DQJ�NHODP 

'DODP�JHODS��HQJNDX�WHWDS�EHUVLQDU 

0HQ\HPDL�KDUDSDQ��PHPEDZD�NHKDQJDWDQ 

 

'L�VHWLDS�ODQJNDK��NDX�WHPDQL�ODQJNDKNX 

0HQ\LQDUL�MDODQNX�\DQJ�EHUOLNX 

'HQJDQPX��NX�WDN�SHUQDK�VHQGLUL 

.DX�VHODOX�KDGLU��VHWLD�PHQHPDQL 

 

3HOLWD�KLGXSNX��GDODP�JHWLU�GDQ�JHPELUD 

.DX�WHWDS�EHUVDPD��WDN�SHUQDK�OXQWXU 

0HQMDGL�SHQXQWXQ�GDODP�VHWLDS�SHUMDODQDQ 

0HQ\HPDL�NHEHUDQLDQ��PHQ\DOD�GL�GDODP�GDGD 

 

(QJNDX��SHOLWD�\DQJ�PHPEHUL�DUWL 

3DGD�VHWLDS�SHUMXDQJDQ�GDQ�FLWD 

%HUVLQDUODK�VHODOX��GDODP�KDWL�\DQJ�WXOXV 

3HOLWD�KLGXSNX��FDKD\D�\DQJ�DEDGL 
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-$/$1�-$/$1�625(�+$5, 

 

 

'L�VRUH�\DQJ�PHUD\X�GHQJDQ�NHOHPEXWDQ� 

.LWD�EHUMDODQ�MDODQ�GL�WHSL�VHQMD� 

0HQ\XVXUL�MDODQ�EHUOLNX�GL�NRWD�\DQJ�WHQDQJ� 

0HQGHQJDUNDQ�ULXK�JHPHULVLN�NLVDK�NLVDK�PDVD�ODOX� 

 

'L�VHWLDS�VXGXW�MDODQ��WHUGDSDW�FHULWD� 

7LQJJDODK�VHMHQDN��GHQJDUNDQODK�ELVLNDQ�ELVLNDQQ\D� 

'DODP�ODQJNDK�\DQJ�SHODQ��NLWD�PHUDVDNDQ�NHKLGXSDQ� 

<DQJ�PHQJDOLU�VHSHUWL�DOLUDQ�VXQJDL�\DQJ�WHQDQJ� 

 

6RUH�\DQJ�WHQDQJ��PHQ\DSD�GHQJDQ�NHKDQJDWDQ� 

0HQJDMDN�NLWD�PHUHQXQJ�GDQ�EHUV\XNXU� 

'L�XMXQJ�MDODQ��WHUGDSDW�KDUDSDQ�\DQJ�PHQJHPXND� 

%DKZD�HVRN�DNDQ�PHQMDGL�FHULWD�\DQJ�OHELK�LQGDK� 
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%DKDJLDNDQ�GLUL�GHQJDQ�PHQJKDUJDL� 

6HWLDS�PRPHQ�NHFLO�\DQJ�KDGLU�GDODP�KDUL� 

6HQ\XP�\DQJ�WHUXNLU�GL�ZDMDK�\DQJ�EHUVHUL� 

'DQ�UDVD�V\XNXU�DWDV�VHWLDS�NDUXQLD� 

 

%DKDJLDNDQ�GLUL�GHQJDQ�NHVDGDUDQ� 

$NDQ�NHLQGDKDQ�GL�VHNLWDU�\DQJ�WDN�WHUKLQJJD� 

'DODP�WLDS�GHWLN�\DQJ�EHUODOX�PHPEDZD�PDNQD� 

'DQ�GL�VHWLDS�KHOD�QDIDV�\DQJ�PHQJKLGXSNDQ�MLZD� 

 

%DKDJLDNDQ�GLUL�GHQJDQ�PHQFLQWDL� 

'HQJDQ�PHPEHUL��GHQJDQ�EHUEDJL�NDVLK�VD\DQJ� 

0HQ\HPDL�NHEDLNDQ�GL�VHSDQMDQJ�SHUMDODQDQ� 

'DQ�PHQMDGL�VLQDU�EDJL�\DQJ�NHODP�GDODP�NHSHGLKDQ� 

 

%DKDJLDNDQ�GLUL�GHQJDQ�PHQHPXNDQ� 

.HWHQDQJDQ�GL�GDODP�GLUL�\DQJ�WXOXV�LNKODV� 

'DODP�PHQHULPD�GLUL�DSD�DGDQ\D� 

'DQ�PHUDQJNXO�NHEDKDJLDDQ�GDODP�NHKLGXSDQ�LQL� 
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6XWULPDK��6�3G�,�ODKLU�GL�3XUEDOLQJJD���$SULO�

������ 3HQXOLV� WHODK� PHQ\HOHVDLNDQ�

3HQGLGLNDQ�6'�SDGD�7DKXQ�������07V�3DGD�

7DKXQ� ������ 3*$1� ������ ',,� 7DKXQ� ������

GDQ� 6�� 7DKXQ� ������ 0HQJDEGLNDQ� GLUL� GL�

GXQLD� SHQGLGLNDQ� SHUWDPD� GL� 0,� $O�

0XMDKDGDK� ������ 3HQJDQJNDWDQ� &316�

7DKXQ� ������ '3.�GL�0,0�%DQMDUDQ� VDPSDL�

VHNDUDQJ�� 3HQXOLV� PHPEXDW� NDU\D� SXLVL�

XQWXN� PHPSHUND\D� GXQLD� /LWHUDVL� VHEDJDL� VXPEHU� EDFDDQ�

.KXVXVQ\D� GLOLQJNXQJDQ� 3HQGLGLNDQ�� VHEHOXPQ\D� SHQXOLV� MXJD�

VXGDK�PHQD\DQJNDQ� � EHEHUDSD� DUWLNHO�� +DUDSDQ� SHQXOLV� VHPRJD�

NDU\D� LQL� GDSDW� EHUPDQIDDW� EDJL� GXQLD� 3HQGLGLNDQ�

PDXSXQ SHVHUWD GLGLN� 

 

 

 

 

 

 


